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>DVFV==>7> D5F5=75=F4  

>4=4<44F4 F5E=VG=<E =4G>, 4>F5=F4 �4D>>6EL>>W �?5EV .DVW6=<  

=4 4<E5DF4FV==G D>5>FG �L5=<G=>7> �<D<?4 .DV=>6<G4 

=4 F5<G: «�>45?V F4 <5F>4< 65D<DV>4FVW F5<?>D4?L=<E <>45?5= >V=F56<E 

46F><4FV6 =4 <>64E >?<EG 4?4D4FGD<»,  

?D54EF46?5=G =4 74>5GFFO =4G>>6>7> EFG?5=O 4>>F>D4 DV?>E>DVW  

74 E?5FV4?L=VEFN 123 3 �><?'NF5D=4 V=65=5DVO 

74?G7L 7=4=L 12 3 �=D>D<4FV==V F5E=>?>7VW 

 

1.�>FG4?L=VEFL D>5>F< F4 646?<6<= 6=5E>> ?D>6545=<E 4>E?V465=L G 

D>76<F>> EGG4E=<E F<DD>6<E F5E=>?>7V= ?D>5>FG64==O F4 65D<DV>4FVW E<EF5< 

D54?L=>7> G4EG 6<7=4G4T F5, M> EGG4E=V F<DD>6V E<EF5<< EF4NFL 6E5 

E>?44=VL<<<, L<D>>> 6<>>D<EF>6GNFLEO 6 >D<F<G=> 646?<6<E 74?G7OE, F4><E 

O> <54<F<=4, ?D><<E?>6VEFL, 46V4FVO F4 46F><>5V?55G4G64==O, 45 F>G=VEFL V 

L6<4>VEFL D54>FVW T >D<F<G=> 646?<6<<<. �5D<DV>4FVO F4 4V47=>EF<>4 F4><E 

E<EF5< 74557?5GGNFL WE=N 557?5>G F4 5D5>F<6=VEFL. �>DV< F>7>, E>>D>G5==O 

G4EG =4 ?D>5>FG64==O F4 65D<DV>4FVN F<DD>6<E E<EF5< T 646?<6<< 4E?5>F><, 

O><= 6??<64T =4 >>=>GD5=F>E?D><>6=VEFL ?D>4G>FV6. �<>>D<EF4==O 

D>7D>5?5=<E <5F>4V6 F4 <>45?5= 4>76>?OT 7<5=L<F< G4E =4 65D<DV>4FVN, 

?V46<MGNG< O>VEFL F5EFG64==O F4 =44V==VEFL >V=F56>7> ?D>4G>FG. �4?D>?>=>64=V 

<>45?V F4 <5F>4< 65D<DV>4FVW F5<?>D4?L=<E ?4D4<5FDV6 G4E>6<E 46F><4FV6 7 

6<>>D<EF4==O< D>D<4?L=<E <5F>4V6 F4 4?4D4FG 4E5DFV= T V==>64FV==<<< F4 

74557?5GGNFL 7=4G=5 E>>D>G5==O G4EG F4 4>66<=< 4V47=>EF<G=<E 

5>E?5D<<5=FV6. &5 E?D<OT ?V46<M5==N O>>EFV F4 =44V==>EFV F5EFG64==O 

F<DD>6<E E<EF5<.

�5¾T>F>< 4>E?V465==O T ?D>F5E< ?D>T>FG64==O F4 4V47=>EFG64==O 

>5DGNG<E 46F><4FV6 G ?D<EFD>OE ?>7VG=>7> G?D46?V==O D54?L=>7> G4EG. 

�D54<5F>< 4>E?V465==O T <>45?V F4 <5F>4< ?D>T>FG64==O V 65D<DV>4FVW 

HDL-<>45?5= F5<?>D4?L=<E >5DGNG<E 46F><4FV6.  

� D>5>FV 6<>>D<EF4=> =4EFG?=<= <4F5<4F<G=<= 4?4D4F - F5>DVO 7D4DV6, 



F5>DVO 46F><4FV6, F5E=VG=4 4V47=>EF<>4. 

$<=>>64 ?D<645?<6VEFL 4>E?V465==O ?>?O74T G 7<5=L5=V G4EG ?D>T>FG64==O 

G5D57 6<>>D<EF4==O 74?D>?>=>64=<E L45?>=V6 G4E>6<E 46F><4FV6 F4 G4EG 

65D<DV>4FVW 6<>>D<EF4==O < 4E5DFV==<E >>=EFDG>FV=. 

�5F>N 4>E?V465==O T ?D>T>FG64==O, 65D<DV>4FVW F4 4V47=>EF<>< E<EF5< 

D54?L=>7> G4EG =4 547V <>45?5= >V=F56<E 46F><4FV6 7 4>?><>7>N 6?D>64465==O 

L45?>=V6 =4 <>64E >?<EG 4?4D4FGD<, O>V 6<>>D<EF>6GNFLEO 4?O E<=F57G 

?D<EFD>W6 D54?L=>7> G4EG.  

�?O 4>EO7=5==O ?>EF46?5=>W <5F< 5G?< 6<DVL5=V ?>EF46?5=V 7444GV: 

- D>7D>5?5=> HDL L45?>=< =4 547V 4<E>D5F=<E 46F><4FV6 4?O 

D>76¾O74==O 74644==O ?D>T>FG64==O F<DD>6<E ?D<EFD>W6 D54?L=>7> G4EG; 

- D>7D>5?5=> <5F>4< 65D<DV>4FVW F5<?>D4?L=<E ?4D4<5FDV6 >V=F56<E 

G4E>6<E 46F><4FV6 =4 547V 4?4D4FG 4E5DFV=; 

- D>7D>5?5=> <5F>4< F5EF>?D<44F=>7> ?D>T>FG64==O >V=F56<E 

G4E>6<E 46F><4FV6 74 D4EG=>> 66545==O 4?4D4FGD=>W =44?<L>>6EFV =4 5F4?V 

?D>T>FG64==O; 

- D>7D>5?5=> ?D>7D4<=<= >><??5>E 46F><4F<74FVW 74?D>?>=>64=<E 

<5F>4V6 65D<DV>4FVW F4 ?D>T>FG64==O. 

�D4>F<G=G 7=4GGMVEFL 4<E5DF4FVW ?V4F65D46GT F5, M> =4 >E=>6V D57G?LF4FV6 

4>E?V465==O =4 ?V4?D<T<EF6V &�� «&�����» 5G?> EF6>D5=> ?D>7D4<=<= 

<>4G?L 7 6<>>D<EF4==O< DD5=<6>D>4 Molybden =4 74<>6?5==O >?VT=F4 7 74?G7V 

EDA 4?O D>7D>5?5==O <>45?5= ?>7VG=>7> >5DG64==O D54?L=>7> G4EG. 

�D>7D4<=<= <>4G?L 6<>>D<EF>6GTFLEO 4?O EF6>D5==O F4 6V7G4?V74FVW 

F5<?>D4?L=<E 7D4DV6 ?5D5E>4V6 F4 ?>44?LL>W 75=5D4FVW HDL >>4G <>45?V 

?D<EFD>N, M> D>7D>5?OTFLEO (4>F ?D> 6?D>64465==O 6V4 12.04.2024). 

$57G?LF4F< 4<E5DF4FVW 6 E>?44V ?D>T>FG64==O ?D<EFD>W6 D54?L=>7> G4EG 

6?D>64465=V 6 =46G4?L=<= ?D>F5E %4D>V6EL>>7> =4FV>=4?L=>7> G=V65DE<F5FG 

D44V>5?5>FD>=V>< (4>F ?D> 6?D>64465==O 6V4 25.01.2024). 

2. �FV=>4 7<VEFG 4<E5DF4FVW, WW 7465DL5=>EFV 6 FV?><G, EF<?N 6<-

>?445==O D57G?LF4FV6 V >D>D<?5==O.  



�<E5DF4FVO <4T 4 D>74V?<. �5DL<= D>74V? ?D<E6OG5=> 4=4?VF<G=><G 

>7?O4G 74 F5<>N ?D>T>FG64==O F<DD>6<E E<EF5< D54?L=>7> G4EG. �DG7<= D>74V? 

D>5>F< ?D<E6OG5=> D>7D>5?5==N <>45?5= F4 <5F>4V6 >5D>5>< 7>6=VL=VE ?>4V= G 

E<EF5<4E ?>7VG=>7> G?D46?V==O D54?L=>7> G4EG, O>V >?<E4=V G5D57 6<>>D<EF4==O 

46F><4F=<E L45?>=V6. �>45?N64==O ?D>6>4<?>EO 7 6<>>D<EF4==O< E<EF5<< 

<>45?N64==O EDA Playground. ' FD5FL><G D>74V?V 6<>>=4==> ?D>T>FG64==O 

E<EF5< D54?L=>7> G4EG 74 4>?><>7>N 4E5DFV= F4 <5F>4V6 D>D<4?L=>W 

65D<DV>4FVW, 74?D>?>=>64=> <5F>4<>G D>7EF4=>6>< 4E5DFV==<E F>G>> G HDL 

<>45?V G4E>6<E 46F><4FV6. $>7D>5?5=V <>45?V 4?D>5>64=> F4 ?5D56VD5=> =4 

<>45?OE G4E>6<E 46F><4FV6 <>45?N64==O < G E5D54>6<MV Aldec Riviera Pro 2022, 

M> F4>>6 =46545=> G FD5FL><G D>74V?V. ' G5F65DF><G D>74V?V D>77?O=GF> <5F>4< 

F5EF>?D<44F=>7> ?D>T>FG64==O G4E>6<E >5DGNG<E 46F><4FV6 G5D57 66545==O 

4>44F>>6<E 4?4D4F=<E 6<FD4F =4 5F4?V ?D>T>FG64==O HDL <>45?V. 

�4F5DV4?, 6<>?445=<= G G>F<DL>E D>74V?4E ?>6=VEFN >?<EGT F4 4>6>4<FL 

E4<>EFV==VEFL D>5>F< 46F>D4 =44 F4><<< ?<F4==O<<, O> <>45?N64==O F<DD>6<E 

E<EF5< ?>7VG=>7> G?D46?V==O 7 >5D>5>>N 7>6=VL=VE ?>4V= 7 =56V4><>N 

FD<64?VEFN, EF6>D5==O FDL>E>><?>=5=F=>7> HDL L45?>=G G4E>6>7> 46F><4F4 7 

?>4VO<< 7 =56V4><>N FD<64?VEFN, 74EF>E>6G64==O <5E4=V7<G 6?4EF<6>EF5= F4 

4E5DFV= <>6< System Verlog, ?V46<M5==O 4V47=>EF>64=>EFV F<DD>6>7> ?D<EFD>N 

D54?L=>7> G4EG 7464O>< 66545==N 4?4D4FGD=>W =44?<L>>6>EFV, 65D<DV>4FVO 

<>45?5= ?D<EFD>W6 D54?L=>7> G4EG 7 >5D>5>>N 7>6=VL=VE ?>4V= V7 

=545F5D<V=>64=>N FD<64?VEFN. 

�5D5?V> ?>E<?4=L <4T 103 465D5?4. &5>EF 4<E5DF4FV==>W D>5>F< 6<>?445=> 

7D4<>F=>N, F5E=VG=>N <>6>N ?>7VG=> F4 ?>E?V4>6=>. %FDG>FGD4 4<E5DF4FVW, <>64 

F4 EF<?L 6<>?445==O 6V4?>6V44NFL 6<<>74<, M>4> >D>D<?5==O 4<E5DF4FV= 4>>F>D4 

DV?>E>DVW. �4EF>E>64=4 6 D>5>FV =4G>>64 F5D<V=>?>7VO T 7474?L=>6<7=4=>N, EF<?L 

6<>?445==O D57G?LF4FV6 F5>D5F<G=<E V ?D4>F<G=<E 4>E?V465=L, =>6<E =4G>>6<E 

?>?>65=L, 6<E=>6>V6 V D5>><5=44FV= 74557?5GGT 4>EFG?=VEFL WE E?D<==OFFO F4 

6<>>D<EF4==O. � FV?><G 4<E5DF4FVO T 74>V=G5=>N =4G>>6>N ?D4F5N, M> 6V4?>6V44T 

6<<>74< E?5FV4?L=>EFV 123 �><?9NF5D=4 V=65=5DVO. 



3. �5�DG=F>64=VEFL F4 4>EF>6VD=VEFL =4G>>6<E ?>?>65=L, 6<E=>6>V6, 

ED>D<G?L>64=<E G 4<E5DF4FVW ?V4F65D46GTFLEO 4>EF4F=L>N >V?L>VEFN 

?D>6545=<E 5>E?5D<<5=FV6, F>G=VEFN D>7D4EG=>V6, 4?D>54FVTN D57G?LF4FV6 =4 

<V6=4D>4=<E =4G>>6> ?D4>F<G=<E >>=D5D5=FVOE, 6?D>64465==O< D57G?LF4FV6 6 

>E6VF=V= ?D>F5E. 

$57G?LF4F< D>5>F< 5G?< ?D54EF46?5=V F4 >57>6>D5=V =4 F4><E 

>>=D5D5=FVOE: XXIII �V6=4D>4=<= <>?>4V6=<= D>DG< «$44V>5?5>FD>=V>4 V 

�>?>4L G %%� EF>?VFFV»; IEEE East West Design and Test Symposium 2021; 12th 

International Science and Technical Conference «Information Systems and 

Technologies» IST 2023. �E=>6=V ?>?>65==O F4 D57G?LF4F< 4<E5DF4FV==>W D>5>F< 

4>E<FL ?>6=> 6V4>5D465=V G 8 4DG>>64=<E ?D4FOE, E5D54 O><E, 5 G =4G>>6<E 

6GD=4?4E, 6>?NG5=<E 4> «�5D5?V>G =4G>>6<E D4E>6<E 6<44=L '>D4W=<», 7 =<E 1 

>4F57>DVW �, M> 6E>4OFL 4> =4G>><5FD<G=>W 547< Scopus; 4 >4F57>DVW �, 4 F4>>6 3 

F57 4>?>6V45= G <4F5DV4?4E <V6=4D>4=<E =4G>>6<E >>=D5D5=FV=. 

�<E5DF4=F>< 5G?> >FD<<4=> =4EFG?=V =>6V =4G>>6V D57G?LF4F<: 

1. $>7D>5?5=> <>45?V 65D<DV>4FVW F5<?>D4?L=<E ?4D4<5FDV6 G4E>6<E 

46F><4FV6 74 4>?><>7>N 4?4D4FG 4E5DFV= F4 D>D<4?L=<E <5F>4V6 65D<DV>4FVW 

M> EGFFT6> E>>D>F<?> G4E 65D<DV>4FVW G5D57 E>>D>G5==O ?>LG>G 

?><<?>>6>W HDL >>=EFDG>FVW. 

2.�45G?< ?>44?LL<= D>76<F>> <>45?V F4 <5F>4< <>45?N64==O F<DD>6<E 

E<EF5< ?>7VG=>7> G?D46?V==O 7 >5D>5>>N 7>6=VL=VE ?>4V= 7 =56<7=4G5=>N 

FD<64?VEFN, M> 4>76>?<?> 7=4G=> D>7L<D<F< >?4E ?>4VT6<E ?D<EFD>W6 ?>7VG=>7> 

>5DG64==O, O>V <>6GFL 5GF< ?D54EF46?5=V G4E>6<<< 46F><4F=<<< <>45?O<<. 

3. �45G?< ?>44?LL<= D>76<F>> <>45?V ?>5G4>6< ?57>>F5EF>64=>7> 

G4E>6>7> 46F><4FG =4 >E=>6V 66545==O 4?4D4FGD=>W =44?<L>>6>EFV G HDL >?<E, 

M> EGFFT6> E>>D>F<?> 4>66<=G F5EF>6>W ?>E?V4>6=>EFV L?OE>< ?V46<M5==O 

>5D>64=>EFV 7D4D>6>W <>45?V G4E>6>7> 46F><4FG. 

4. '4>E>>=4?5=> FDL>E>><?>=5=FG HDL <>45?L >V=F56>7> G4E>6>7> 

46F><4FG 7 6<>>D<EF4==O E<=F57GNG>W ?V4<=>6<=< <>6 Verilog F4 VHDL , M> =4 

6V4<V=G 6V4 =4O6=<E <>45?5=, D>7L<D<?> >?4E E<EF5< ?>7VG=>7> G?D46?V==O 



D54?L=>7> G4EG, O>V >?<EGNFLEO 74 4>?><>7>N G4E>6<E 46F><4FV6. 

�EV ?D>6545=V 5>E?5D<<5=F< E?DO<>64=V =4 E>>D>G5==O G4EG ?D>T>FG64==O 

F4 65D<DV>4FVW, 4 6V4?>6V4=> =4 7<5=L5==O G4EG 6<E>4G 7>F>6>7> F<DD>6>7> 

6<D>5G =4 D<=>> ( time to market), M> T E6VF>6<< FD5=4>< G ED5DV 46F><4F<74FVW 

?D>T>FG64==O >5G<E?N64?L=>W F5E=V><. 

4. �>FD<<4==O 4>445<VG=>W 4>5D>G5E=>EFV. 

�4 D57G?LF4F4<< 4=4?V7G 4<E5DF4FVW F4 =4G>>6<E ?G5?V>4FV= �L5=<G=>7> 

�... ?>DGL5==O 4>445<VG=>W 4>5D>G5E=>EFV =5 6<O6?5=>. �?5<5=F< 

D4?LE<DV>4FVW G< D45D<>4FVW F5>EFG 6 D>5>FV 6V4EGF=V. 

5. �4G6465==O M>4> <4F5DV4?V6 4<E5DF4FVW. 

1. � ?V4D>74V?V 1.2 =5 =46545=> >>=>D5F=<E ?D>F54GD 6D4EG64==O G4E>6<E 

?4D4<5FDV6 ?D< 46F><4F<7>64=><G ?D>5>FG64==V >5DGNG<E 46F><4FV6 6 E<EF5<4E 

?>7VG=>7> G?D46?V==O. 

2. �5 ?>>474=<= E?>EV5 ?5D5E>4G 6V4 E?5F<DV>4FVW E<EF5< D54?L=>7> G4EG 

4> <>45?5= G4E>6<E 46F><4FV6. 

3. �D< >?4E<DV>4FVW 7>6=VL=VE ?>4V= G4E>6<E 46F><4FV6 =5 D>77?O=GFV F4> 

764=V «464DV==V ?>4VW», O>V <>6GFL ?D<65EF< E<EF5<G ?>7VG=>7> G?D46?V==O 4> 

464DV==>7> EF4=G. 

4. �5 =46545=> ?D<>?44V6, O>V E4<5 DV7<G=V ?>4VW 6 E<EF5<4E ?>7VG=>7> 

G?D46?V==O T E<=ED>==<<< 45> 4E<=ED>==<<<. 

5. �5 =46545=> ?D>F54GD< ?5D5F6>D5==O 6?4EF<6>EF5= <>45?5= 

D>D<4?L=>W 65D<DV>4FVW 6 TestBench ?D< 65D<DV>4FVW D54?L=>W HDL-<>45?V. 

6. �5<4T >5�DG=FG64==O 6<5>DG <VEFL 4E5DFV==<E F>G>> ?D< ?5D5E>4V 6V4 

D>D<4?L=>7> >?<EG 4> F5<?>D4?L=>7> 7D4DG ?5D5E>4V6. 

7. �V4EGF=V ?>DV6=O?L=V E4D4>F5D<EF<><, O>V 5 ?>>47G64?< O> 

6<>>D<EF4==O ?57>>F5EF>64=>W <>45?V G4E>6>7> 46F><4F4 4>?><>7?> 7<5=L<F< 

G4E 4V47=>EF<><. 

8. �<>>D<EF4==O <5F>4G ?>6=>7> ?5D55>DG 4?O 7=4E>465==O F<>?G 

�4<V?LF>=4 G D>74V?V 4 T =5>?F<<4?L=<< 7 F>G>< 7>DG G4E>6<E 6<FD4F. 

 



 


